
College Algebra - Quiz 4 

Name:. k.""O.dw~ ... ~ \ , :Cf.i,<...,~(;~\Y' ~ 
GUST ID: .. ).~.\.Z~t\ ....... . 

Thursday 29th March, 2018 

Notes: For full credit , please show your calculation methods . . Calculators are not permitted. 
Questions: 
1) Solve the inequality 
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2) List the potential rational zeros of the polynomial function . Do not find the zeros. 
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END OF QUESTIONS 
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College Algebra - Quiz 5 

Name: .............................. . 

GUST ID: .. ..................... . 

Thursday 11th April, 2018 

Notes: For full credit , please show your calculation methods. Calculators are not permit­
ted. 
Questions: 
1) For the given functions f and g, find the requested composite function value. 
f(x) = 4x + 4, g(x) = 4x2 + 3; Find: 

a) (f o g)(2) ~c 'Z)) 

i l..'l) = l\ c,__,z_J--\- 3= L\ l l.-\)-\- 3 =- \ 6 ~ S=- \ 0\ 
+-" \C\) ::= L'\l\G\)-\- u\ ==- 7-6Jr U\ ::- ,0 

b) (g O f)(l) i(~l\); 
tC\) - , ) -¾ c ::.: 

i l<Q =:: G\ ltJ· + 3== !__,\ (bl\)+ ·3 =: 2,5G\ 
c) (go g)(-1) ~ l ~(_- ) ) 

~\-\)~ 0\~--\ )'\. 3:::: G\-r-·3~ ·7-

~ C=t-):: 0\ C---=t-z) -\- 3- G\ \ye~)+· 3 J 
2) Solve 

END OF QUESTIONS 
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College Algebra - Test 1 

Name:. 1. .. Q.dW.C1. .. ~\.\()J~\V" , 

GUST ID: .. ~.~ .. 2..9.\ ...... . 

Sunday 11th February, 2018 

1' 1tes: For full credit , please show your calculation methods. Calculators are not permitted. 

Q, ~stions: 

1) F ,nd thee~d solve 
x + l 2 2 
- - -=-

x 5 X 
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2) Solve and check your a n::-;wcr 

0, e_c_, :( .. 

-~ (\ 
A_, - -°3) -;, -1 

=:>X3 

JC\ -'1- - ~-=: - .\ 

2-s=--·' 
\: -\ - · _, ) 

3) Find the domah s of the following functions : 
(a) 

( ) 
2x 

.f ;r; = - 2-
x -9 =O 

X- 3-::--.c .J -x+.3 ~a 

X ~3 .;> X =- 3 

(b) 
()a\')'\~\ V\ X --=- - 3-> 3 

f(x) = 10 
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4) Find the x and y intercepts of the following equation , an 
intercepts 011 your graph . ....._____,,, __ _ 

\~+ ~(:) = -Sx 

3o-=- ~ 
-5 --t 

- b ~ X 

✓ 

5) Solve the inequality 

lOy + 30 = -5x 

'6= --3 
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l,~~ . ==- Y>\ l'>< --XI ) 

6) F
. -1 l ( )( ~ 20 mu tie equation of the line passing through (-2 ,-3) which is perpendicular to 5y + :i; = · 

5~+-X~ 

¥=~-
'j= e0 __ X 
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7) BONUS Find the domain of the function 

A 
~--=-5 X0 ~ &- H~\ AVIS 

✓ --~- s / 
/{6 

f(x) = Jx+vx 

END OF QUESTIONS 



College Algebra - Quiz 2 (Section 3/4) "' ' 

Name: .. Go.d Cl ... A\.-:.ffiuk~\y-1 .\ 
GUST ID: .. \ .l!.\. :~~-\. ....... . 

Tuesday 20th February, 2018 

. 

Notes: For full credit, please show your calculation methods. Calculators are not permitted. 
Questions: 
1) For the function 

J(x) = { r 
x +4 

Find J(l) , f(3) and J(-2) . 

~ \_\)= ~ ~ C\ 
\ 

tl~J~, ~ \ X 

~(-Z) =: ( - 'Z) G\ =- 0 

if O < X < 2 
if X = 2 
if X > 2 

2) Use transformations to graph the function y = (x - 34. 
·,j\ 

; 
,, 

END OF QUESTIONS 
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